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CLASS SCHEDULE

DATE TOPICS & SUB TCPICS

14 -11-2023 Simplification Part 1 — VBODMAS, JARE & CUBE ROOT, POWER &
INDICES, FRACTION SO
15-11-2023 Simplification Part 2 — ALGEBRA, WORD PROBLEM (Equation solving)

20—-11-2023 Percentage Part1 A\(}//
21-11-2023 Percentage Part 2 - Profit & Loss, Discount, GST

27-11-2023 Least Common Multiple (LCM)

28 -11-2023 Highest Common Factor (HCF)

04—12 - 2023 Ratio & Proportion Part 1

05-12-2023 Ratio & Proportion Part 2 — Ages, Mixture & Allegation
11-12-2023 Simple Interest

12-12-2023 Compound Interest Part 1

18— 12 -2023 Compound Interest Part 2

19-12-2023 Area Part 1 -Square, Rectangle, Circle

CLASS NO
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25— 1?35023 Area Part 2 — Triangle, Quadrilateral, Trapezium, rhombus

26 —12-2023 Volume Part 1 — Cube, Cuboid, Cylinder

[y




CLASS SCHEDULE

01-01-2024 Volume Part2 - Coﬁ\esgbhere, Hemisphere
02-01-2024 Time & Work _
08-01-2024 Time & Distance
09-01-2024 Number system (A.P)
15-01-2024 Number system (G.P)
Il 16-01-2024 Logical Reasoning
22-01-2024 Puzzles & Dice
71 23-01-2024" ‘Alphanumeric Series
“ 29-01- 2@2@'} Visual Reasoning

" J5 0 30-01-2024 Probability
“ 31 —\02153\—‘2024 Miscellaneous — Statistics
.| 17-02-2024 Maths Revision 1
_ {\iﬂ\: 02-2024 Maths Revision 2




PREVIOUS CLASS DOUBT CLARIFICATION

TYPE 2.2: PERCENTAGE INCREASE/DECREASE

Kayal scored 225 marks out of 500 in revision test 1 and 265 out of 500-marks in revision
test 2. Find the percentage of increase in her score.

&WeD ereuTUeNT (W& Sl Gaielled 500 wHlleweiaEndd 225 WEIIELETTEEHL
SuevorLnid Saplyged Gaieled 500 wHleueraeEndd 260 108U6UTTSEBLD UHMTT ereufled,

26T 5 IIeUT&eT A ST s56i55mas Gnetors.




PREVIOUS CLASS DOUBT CLARIFICATION
TYPE 2.1: PERCENTAGE INCREASE/DECREASE

A number is increased by 25 % and then decreased by 20 % . Find the change in that number.

el erevurevoinenta) 25% sil&f&aiul Ll DG 20% GemnéssiuBéng ereufled, 2ibs erevoresofle
anul L 8565 MHMEmEE STetoTs.




HOMEWORK SUM - DOUBT CLARIFICATION

8. In the year 2015 ticket to the world cup cricket match was X 1,500. This yearthe price has
been increased by 18%. What is the price of a ticket this year?

2015 b yenger 2 &S Ganleny dflsas Guilybsner memweydsl o 1,500 38
BrHs8. 5HCUNE 56 6eflene 18% 246 2 WIIhHEHTe, HIDWeyEFL 16T 65N ereleuemey?




BOX METHOD ONCE AGAIN REPEAT
TYPE 2.1: PERCENTAGE INCREASE/DECREASE

A number when increased by 18 % gives 236. Find the number.

el erevvTementt 18% 2151 &1f&5med 236 SlemL&Ema) ereuflsd, SibS 61600166001 S
SHITEUT&.

A number when decreased by 20% gives 80. Find the number.

el erevremennr 20% Gemmssmed 80 HlemL&Hng) ereufled, SibS eTETOTENETIE HTETOTS.




BOX METHOD ONCE AGAIN REPEAT
TYPE 2.1: PERCENTAGE INCREASE/DECREASE

If the difference between 75 % of a number and 60 % of the same number is 82.5, then find

20% of the number.
el erevvrendfledr 75%@&6G0 2165 erevurevtflenr 60% &G0 QewL Cuwyeter elgHwngd 82.5

ereufleL, & erevorenofleor 20% & Snetors.




BOX METHOD ONCE AGAIN REPEAT

TYPE 4: WORD PROBLEM

2. A tank can hold 50 litres of water. At present, it is only 30 % full. How'many litres of water
will fill the tank, so that it is 50 % full?

2. @ setuetiis eanliguiletr asnetenemey 50 Ol LI&6T A@D. sHBLUNE 2uHed 30% Sevorenf i
HITbSlueTens ereufled, 2uHled 50% Sevorevvi i Hlemm QeiTeniDd srdgement Ol L T&H6T GHemeu?




PERCENTAGE (g8 apL0/e0(10&5m1®)
TYPE 4: WORD PROBLEM

The ratio of boys and girls in a class iIf 16 % of boys and 8 %ot girls failed in an
examination, then find the percertage of passed sbudents.

—_— —

@ euGLIIe WreeuiseT WHMID Wreveigefler elégn 5:3-GWw. b Gaiele 16%
WmevoTeul &@mld 8% oneonrel&@nld CaTFd aumeleleme ereufled, GETFE QUDM ELONES LOTEDITEY,

Lonsome)il&,aﬂm 536ligsamas &nm&
B S 1
20357 |

o, bk R @;/ G —=
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PERCENTAGE (&8 6igL0/all(0&&6M([H)

P’s income is 25% more than that of Q. By what percentage is Q’s income less than P’s?

—

P @6t eumlomend Qmé &nim@@&,m ereufled, Q Q6T QUHLONEDTLD
P ;& &nlualb adsemer 56i50 &emmey?




PERCENTAGE (&8 6igL0/all(0&&6M([H)

If the ﬁrgt number is 20% less than the second number and the second number is 25%

more than 100, then find the first number.
(PSED GTEVOTEVOITEOTS ERIETOTLM6US| 6TET0TEmEB0T G)Slsmr_r)su. GTeTuTLMD 6T600T6U0TME0T &l

Uy S0 25% st o s o,

2> L © % X %

(D@ 2 A
A

L —=> D0 Y e
ey

S~

— \00




PROFIT & LOSS (@6é0muLd MMID HLL LD)
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PROFIT & LOSS (@6é0muLd MMID HLL LD)

Formulae: S P ¥
G P x100 |%
(i) Gain or Pro (( )/

(100 + Profit%)

(iii) S.P = xC.P (or)

100
o [ 100+ Profit% ) B

(l 00— L()ss%)

(iv) S.P = x C.P (or) !

p-._ 0 __.cp

— (100-Loss%)

G S ser
[ .
(i) @eomuid % <= QswumxlOO)%
)
(i) BLLb% = H’;;DXIOO)%
Xam B (100 + Boomuid %) )
(1i1) eom ellemen. = 100 X 2168 (si6060g)1)
& 100 G
100+ @oma)
o e
(iv) chpp e =% I(”)’(“)‘”/ J— (S6005)
100 '
2168 = X ellmm ellemev

(100 -mLLid; )




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 1: GAIN/LOSS PERCENTAGE

&6 v ellwmunfl 2004 uwhgemer ellbugenr cpeuld I40m eomulonsL oM erevfley,
————— N /
sieufleor Qeonué s56fig0 24 GD.

A fruit vendor sells fruits for 3200 ga. His gain percentage is

() 20% b)22% M 25% (d) 16%%
= (&00
g F CC??——J@W . gz\o«\\’\"
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\_N G\O‘“"/ VAR
-0l = —
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= \LW =




PROFIT & LOSS (@6é0muLd MMID HLL LD)
TYPE 1: GAIN/LOSS PERCENTAGE

Some articles are bought at 2 for ¥15 and sold at 3 for ¥25. Find the gain percentage.

2 ﬂL_LIT_(_I_I;_GjT_&»G'T &LD ereor euNTAISLILL (B 1 QUNHET&ET I25 6figld sreor eimaLiuL Lmed, Qeomud
5568856085 ST, T - —
— = _ zo — L5
C P = F\——«—— Bl @ ¥ \O®
s
;/—
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T - Z_ 4w
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2022 GROUP 4

A man bought an old bicycle for Rs.1,500. He spends Rs. 500 on its repair
and sells it for Rs. 1,800. Find the percentage of his loss

MO%

(B) 15%

€) 20% g - ___%_G‘_f‘ Y \DT&
o) 5% T T ag
(E) Answer not known \T? -

. 000 &
eld) it Sibs L&@mm'rmrmm . 1,800 &@ &fndpmr

A) 10% C? 8o 4 5 :; 2.0 00 )

(B) 15%

) 20% Q.= \X0

5% 6
(D) 0 \—& L
(E) Mo Qsflueldeame




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 1: GAIN/LOSS PERCENTAGE \d

L
If the selling price of@ rulers is the same as the cost price/(_)_@r_ulers, then find the gain

percentage.

10 siemeyGamev&erleor eﬂg’)@mmn@g 15 sieneyGanevsarfler SiIL_&& eflemeué&F FLoLD ereufley,

Seonué 55655054 ST

ACTSV A PACE.
eNjng.pricg of y articles, thesprofitd% = (—'xlOO]%

y

i ive, then it igitrdated as los3.
TEr _é% B3P 1B
X oummaselér ‘o0 STz YREuMEEallar efibuanear ellenaéss sl

i C

ereufleb, @eonmud % = (x Y 100 iy, dilemLwnenrg - GByLer @mhHEHme, HULLD ered
v"

asndion G @i, @




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 1: GAIN/LOSS PERCENTAGE

If the cost o is equal to the secles the proﬁt percent m the

transactlon 18

12 Gurr@arasaﬁat el 65]6)0)6@ 10 Qun@m&qﬂm eﬂgpm eweEg, s craﬂa) 85
eflwurungsfér SamLsGid @omub spaish

@A 18% ®) | 16—%—%
X
¥ \D&i
an/

©) - 25%




PROFIT & LOSS (@6é0muLd MMID HLL LD)
TYPE 1: GAIN/LOSS PERCENTAGE
By sellin&@f cloth, one gains the selling price o

A  25% | (B) 30%
(C) 35% | | P 50%

'@. etres. Find the gain percent.

gmeui 33 B geflow puger qpon 11 BLLmssrar spumer clleeamu GoTLISL
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Qugdpn, Tefed Heurg) Oy efl(asT g sar®idliy
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PROFIT & LOSS (@6é0muLd MMID HLL LD)

SHORTCUT FORMULAS
By selling x /z_i_r_t% if one gains the selling prise_of y atticles, then the
profit % = : xloo)%.
L 4 , :

® X ouneTsemer eADUSTE) QHENGES Y eunhatsafler - eiibuener  eflemeowineTs)
—_— - — —
W& HemL &G erevfled, eomuld % :( 2 xloo)%.

xX—y

® Byselling x articles, if one gains the cocles, then the

profit % =/ 9% .
® X QUNEHEN&EmET eSlHUSTE) RUHEUHES Y UNIHETS6T60T L &S ellenevllmeTs)

Seonuonsd HenL_&@GLD ereufled, @eomub % = (% X 100)%.




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 2: C.P — COST PRICE

—

A mobile phone is sold for ¥8400 at a gain of 20% . The cost price of the mobile phone
is

el semeGudinergs 20% @ennugg,lsu ?8400@5@ ApsluBdng erefled, Hs
s GUAlicT SIS elana 2 GLD. \ O

& ey
— C?/

/7(g? = &hfbb 2 —g‘«‘”‘ ! ~C \OY "\OO

_,2 /)\m = é—?, @




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 2: C.P — COST PRICE

An article is sold t a loss. The cost price of the article is
—————— —t -

|
Qb OUMHETTETE) 75% BLLG&l60 I55586@ alnsluBéng erefled, 2uhg ewnherfler

\O© )
6‘%%

3IL&ES 6elemen &L, 1S 555
x5 ’\’D’D— -




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 2: C.P — COST PRICE

If selling an article for auseoss on the selling price, find its cost price.

A
&6 eun@bemen I820Q&@ @mm eln@&Lb elemevudied 10% siemey HLL 1D ahu(B&ima) ereofley,

2p5L1 eunhefler &5 aflemsemild SHTetors.

Opee = \D/- 1
g f@ ER
g% 2K di o\\\
SC=ANAN

C-¥C = AN\




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 2: C.P — COST PRICE
If the profit earned on selling an article for ¥810 is the same as loss on selling it for 3530,

then find the cost price of the article.
605 ELINM(IHEm6T @5@ elhmame) SlemL 65 Seonuywld 2GS ewunBener 53086 ellbhmsed
amnul L E,LL@L(’ ELDLbSGTGOﬂGiJ, 365 eunhefler &5 efleneuemilid &meurs.

_ &on ~(62)

S O EVA S
a\}

\3AD = 2 C- T




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 2: C.P — COST PRICE

Gopi sold a laptop at 12% gain. If it had been sold for ¥1200 mere, the gain

—_

would have been 20% . Find the cost price of the laptop.

Gamd, &b wmé,&amﬂsoﬂ@m@mﬂugélgb@ elbmmeor GLAID, i)
@ Fo(Bons  ensUul g mBseme), Seunuld @ 245
@ﬁ;@@&@ﬁ) ereufle, 1019 H&6eu0fleuflulletT SILES eflemeuemiLS SHTETITs.

7 - Lo —~
X7 B
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7 = bworAS
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PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 3: S.P — SELLING PRICE

By selling a speaker for 3768, a man loses 20%. In order to gain 20% how

much should he sell the speaker?

el @aﬁluau@éélso)u_l 1768@46® allnugme, b Huhéd 20% BLLD anuBHns.
20% @eomuib éﬁlaDI_GSEB epedlleLhESleniL Sieul ereorer elenedé G efline Geuetor(BLd?

B e I

L S&D__D /4( %?&:‘.q/ @— b
@j?@g:ao«y@ | O\b?\b@ V5 é\@

K = AU\ = 192

%‘1
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PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 3: S.P — SELLING PRICE
By selling a flower pot for 3528, a woman gains 20% . At what price should she sell it to

gain 25%?
(1)
@b ewetor u&sl 1y @earenm I528@46@ aflmmi 20% @eurruw euMISDET. U6t 25% Gevmuld

QU DS areirar DS elbs GaidrBh?
(a) ¥500 /5{?550 (c) %553 (d)3573
<00 S.p=nR
T 4zl — as/
m Sf="
590

—_—

= dC = PANRAC T




PROFIT & LOSS (@6é0muLd MMID HLL LD)

TYPE 3: S.P — SELLING PRICE

A man buys an article for ¥150 and makes overhead expenses which are'12% of the cost

——————

price. At what price must he sell it to gain 5% ?

By

&6 eunhemer I150Q4@ eunmhdl i L4686 eflemeouiel 12%: Bené a1F606y&HaMNS 66 HUIT
(Bwﬁ)a&,@'@g[’r. ac@wmtb 6L H6WS 6TE0TE0T eU6& eMne Geuetor(BLD?

(a) 2180 (b) 2168 m (@5 op

jx ~(\8)




PROFIT & LOSS (@6é0muLd MMID HLL LD)

A man sold two gas stoves for ¥8400 each. He sold one at a gain of

oL
and the other at a lo . Find his gain or losn the

whole transaction. LJQQ’/ ﬁ_:_;_?; )/

& bul Suev@ erfleumy SiBULSener geon 184008466 elpmm.
eeoremm e 20%) Seomusdleud wnemnerenn| 20% JbLL &HeID

eflbmniT ereufled, S6UTHES amul L eonu 26068 UL E s5elisdanssd .

nev .C—’P' o (X
" o= () T otam (TS,

=27 =0 ) e
\\/C\ oD o) Y 10‘3 Lok s et
-T2 %:j’:x%\ - Q?m : o

. = o § 72/




PROFIT & LOSS (@6é0muLd MMID HLL LD)

A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he

—e

loses 10%. Find his gain or loss percent on the whole
o —

@m @sssusmTIRsaT @a@eauraempud @ 594-&@ @meur ellhprr. @eueurmy Slbhmdld
o st i

10% @eruapd wppded 10% BLLapb SeumsE ghulL gl. Guréssdd umea gpulL eorub
DDODG| BL-L FHCIHD SIS

(A) Loss % =90%

(B) Gain % =5%
_Roxte

(D) Loss % =17%




PROFIT & LOSS (@6é0muLd MMID HLL LD)

Vaidegi sold two sarees for 2200 each. On one she gains 10% and on the

other she loses 12% . Calculate her gain or loss percentage in the sales.

meuBsd, @ Gsemavsenar e 12200468 einmneT. eemier e
10% Qeonmugensud wHewremier We 12% BLLEDSUD SNemLHSTET

ereuflel, CEemensemen 6Xlmm Sleb Sieuafler Gevmuld S1eDev g HLL & 5615560856

SNETTS.
W W;\ga SV ) 7 0O X S C = 20roco =
/ : - f.
% (o)




PROFIT & LOSS (@6é0muLd MMID HLL LD)

If the price of an item is increased d then decreased by 30%.)The final price
— —_— — g 2

compared ed to original price 18 SO

@ @ung_? e ellena 30% &LLUUI_G\ Qer 30% @m&auu@@m@ @gy,ﬁ aSienaven <pTIdL

\%*&

sfilenauiy e e U SGs.

% : 9% @mgp?

(B) 0%

(C)  91% sz

aem (Y

=20/ ¥ (-3° ) x ~ \®o
v So-q

st

(D) 91% gepey




DISCOUNT (&6iT(e1pLilg.)

/_\ . .
A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount?
@ 5% o \O
® 1% - | _,&xte&
| | oy s
@ 20% M P =500 U 5|50 ) .

- STt =138 .
@unﬂm aflency gm. 1,500 erenmm GHlés1uL Deteng). ,@gssman 5. 1 3508;@ eﬁlg_r)g)rra) SHET(@HLIg.

s5eSSID erenean? .
o A

S :MV—

. . s . eImerpL
efipuener allene = GHIHS ellemey — HeT@bLIYE = FETEBLIG % = d - ln
— &NsHS aflemed

7. db = _m;x\m




DISCOUNT (&6m(erpLilg)

oF Qb eser eaidlidr @HSs e . 1,700. b Blineuetd . 10% BeTEHLIG
SeNsdlg e, ohg auammguiler eldpusmer allane

The marked price of a bicycle is Rs. 1.700. If the company gives 10% discount,

then the selling price of the bicycle is

A) Rs. 1,500 B) Rs. 1,350
_e7 Rs. 1,530 D) Rs. 1,300.




DISCOUNT (&6m(erpLilg)

The price of a hat is ¥210. What is the marked price of the hat if it is'bought at

16% discount?

16% sememuiquied euntaldiL @b GTLlulleor eﬁlso) aufleD, 25607 G165 ellemen ereoTeoT?

(a) 3243 (b) 176 (c) 3230 3250
N ¥ =
> () s
Co-md o8




DISCOUNT (&6m(erpLilg) X L

The gingle discount'which is equivalent to two successive discount ¢f 20%) and 25% is
LOMEUT 6l

et ® aFnLi serapugsetnar 20% wHMID 25% HALIUDIES L 5568500
3.

(b)45% (5% (d) 22.5% \S

gl =5

X oo
A
=




DISCOUNT (&6m(erpLilg)

If a mattress is marked for ¥7500 and is available at two successive discounts of 10% and

—_—

20%, find the amount to be paid by the customer.

&M owdmsulsr &Mss eflemer I7500. @end SoeturB. ST SeTEpLGEET (WemmEIW
//_“
10% wmmud 20% ereor eULOMIGLILLL M6, UM &enSIITETT 61Fa)6S GeuetonglLis OSTEnS:EmILIS SHTEU0TS.

W p =500
:D\:_\__P_/ / ‘Z);_D_,

Q-5 \- (\%\k %:\\Yﬁ

VBB X, xﬁ

\ =

N\




DISCOUNT (&6m(erpLilg)

A shopkeeper gives two successive discounts on an article whose marked price is 180 and

B
selling price is ¥108. Find the first discount percentage if the second discount is 25%.
i —

X180 26 @nlés eflemeuingayb, T108 g eflibuenet elemeLTEEYD EIGTETITL. 6 AUNIHEDHEHE
&L&ESMT uetvor(BS OSNLIT SeT@nuysemet SiefléSnnT. @aetorLmeug) Semenuy 8% ereufley,
(&6D HEMEBUNF F56H556MEEH HTeTvs. @

NP = \XO g ‘ 7\(%




2021 GROUP 4

A shopkeeper allows a discount of 10% to his customers and still gains
20%. Find the marked price of an article which costs Rs.450 to the
shopkeeper.

(A)
(B)
(©)
D)
(E)

@(F SHOLSHNTIT S6IT _CUITL.HENS W ITATITE (G & &\ 1!
S Semoni. @ Qurmefien o amano ailaw
cllenaenws Sras.

) 500 D =&
B) .550 (‘)\—.&D'/
A4E) e.600 Mo —
D) .650 e
(E) oen Qsfwefdvens

Rs.500
Rs.550
Rs.600
Rs.650

Answer not known

SEF(EHLlG. SHFZID 20% @corrULb
grafler, SuGunpeafler @Hss




GST

Abirami bought a suitcase for ¥ 2730 which including 5% of VAT (Value added Tax). What -
was the price of the suitcase before @a added?

(A) T 2700
(B) T 2530
€ T 2630 g'?;gj\’ﬁD

@ - To;\é‘S/'

.
ST G5 Lwew) UMW @5@ ariiglprer. sdeilaade 5% wHiLs al®
aufiyw (VAT) si_iiuliamsfipg. s s’ B afienu Garaamoe Lwesiemuuer eflene eremen?
\oxs AT




